

Research Article

Fixed-Point Theorems for Mean Nonexpansive Mappings in Banach Spaces

Zhanfei Zuo

Department of Mathematics and Statistics, Chongqing Three Gorges University, Wanzhou 404100, China

Correspondence should be addressed to Zhanfei Zuo; zuozhanfei@163.com

Received 16 September 2013; Accepted 10 December 2013; Published 12 January 2014

Academic Editor: Hassen Aydi

Copyright © 2014 Zhanfei Zuo. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

We define a mean nonexpansive mapping T on X in the sense that $\|Tx - Ty\| \leq a\|x - y\| + b\|x - Tx\|$, $a, b \geq 0$, $a + b \leq 1$. It is proved that mean nonexpansive mapping has approximate fixed-point sequence, and, under some suitable conditions, we get some existence and uniqueness theorems of fixed point.

1. Introduction

Let X be a Banach space, C a nonempty bounded closed convex subset of X , and $T : C \rightarrow C$ a nonexpansive mapping; that is,

$$\|Tx - Ty\| \leq \|x - y\| \quad \forall x, y \in C. \quad (1)$$

We say that X has the fixed-point property if every nonexpansive mapping defined on a nonempty bounded closed convex subset of X has a fixed point. In 1965, Kirk [1] proved that if X is a reflexive Banach space with normal structure, then X has the fixed-point property.

Let C be a nonempty subset of real Banach space X and T a mapping from C to C . T is called mean nonexpansive if for each $x, y \in C$,

$$\|Tx - Ty\| \leq a\|x - y\| + b\|x - Tx\|, \quad (2)$$

$$a, b \geq 0, \quad a + b \leq 1.$$

In 1975, Zhang [2] introduced this definition and proved that T has a fixed point in C , where C is a weakly compact closed convex subset and has normal structure. For more information about mean nonexpansive mapping, one can refer to [3–5].

2. Main Results

Lemma 1. *Let T be a mean nonexpansive mapping of the Banach space X . If T is continuous and $a + b < 1$, then T has a unique fixed point.*

Proof. The proof is similar to the proof of the Banach contractive theorem. \square

If we let $b > 0$ and $a + b \leq 1 - b$ as in Lemma 1, then the condition that T is continuous may not be needed. Firstly, we recall the following two lemmas.

Lemma 2. *Let C be a nonempty subset of Banach space X and T a mean nonexpansive self-mapping on C with $a + 2b \leq 1$ and $b > 0$. Let K be a nonempty subset of C ; one defines $\phi(x) = \|x - Tx\|$ for any $x \in K$; if the set $\phi(K)$ is bounded, then K is also bounded.*

Proof. Let $M = \sup_{x \in K} \|x - Tx\| < \infty$ and set $x_0 \in K$ as fixed; then for any $x \in K$, we have

$$\begin{aligned} \|x - x_0\| &\leq \phi(x) + \phi(x_0) + \|Tx - Tx_0\| \\ &\leq a\|x - x_0\| + b\|x - Tx_0\| \\ &\quad + \phi(x) + \phi(x_0) \\ &\leq a\|x - x_0\| + b\|x - x_0\| \end{aligned}$$

$$\begin{aligned}
& + (1+b)\phi(x_0) + \phi(x) \\
& \leq (1-b)\|x-x_0\| + (2+b)M.
\end{aligned} \tag{3}$$

This implies that

$$\|x-x_0\| \leq \frac{2+b}{b}M. \tag{4}$$

Hence, K is bounded. The proof is complete. \square

Lemma 3. *Let C be a nonempty subset of Banach space X and T a mean nonexpansive self-mapping on C . If $a+2b \leq 1$ and $b > 0$, then for any $x \in C$, one has the following inequality:*

$$\begin{aligned}
\|T^n x - T^{n+1} x\| & \leq d + \left(\frac{a}{1-b}\right)^k \\
& \times \left\{ \|T^{n-k} x - T^{n+1} x\| - (1+k)d \right\},
\end{aligned} \tag{5}$$

where $d = \|x - Tx\|$ and n, k are two positive integers such that $2a/(1-b-a) \leq k \leq n$.

Proof. By the definition of mean nonexpansive mapping, we have that

$$\|T^n x - T^{n-1} x\| \leq a \|T^{n-1} x - T^{n-2} x\| \leq \|T^{n-1} x - T^{n-2} x\|; \tag{6}$$

this implies that

$$\|T^{r+1} x - T^r x\| \leq \|x - Tx\| = d, \tag{7}$$

where r is an integer.

When $k=0$, the result is obvious. Suppose that (5) is true for $k=l < n$; that is,

$$\begin{aligned}
\|T^n x - T^{n+1} x\| & \leq d + \left(\frac{a}{1-b}\right)^l \\
& \times \left\{ \|T^{n-l} x - T^{n+1} x\| - (1+l)d \right\}.
\end{aligned} \tag{8}$$

By the inequality (2) and (7), we have

$$\begin{aligned}
\|T^{n+1} x - T^{n-l} x\| & \leq a \|T^n x - T^{n-l-1} x\| \\
& + b \|T^n x - T^{n-l} x\| \\
& \leq a \|T^{n+1} x - T^{n-l-1} x\| \\
& + b \|T^{n+1} x - T^{n-l} x\| \\
& + (a+b)d.
\end{aligned} \tag{9}$$

This implies from $a+2b \leq 1$ and $b > 0$ that

$$\|T^{n-l} x - T^{n+1} x\| \leq \frac{a}{1-b} \|T^{n-l-1} x - T^{n+1} x\| + d, \tag{10}$$

which follows that

$$\begin{aligned}
\|T^n x - T^{n+1} x\| & \leq d + \left(\frac{a}{1-b}\right)^{l+1} \\
& \times \left\{ \|T^{n-l-1} x - T^{n+1} x\| - (2+l)d \right\}.
\end{aligned} \tag{11}$$

By induction, this completes the proof. \square

Theorem 4. *Let C be a nonempty closed subset of Banach space X and T a mean nonexpansive self-mapping on C . If $a+2b \leq 1$ and $b > 0$, then T has a unique fixed point.*

Proof. For any $x \in C$, set $\alpha_n = \|T^n x - T^{n-1} x\|$; by the definition of mean nonexpansive mapping, we have that

$$\begin{aligned}
\alpha_n & = \|T^n x - T^{n-1} x\| \leq a \|T^{n-1} x - T^{n-2} x\| \\
& \leq \|T^{n-1} x - T^{n-2} x\| = \alpha_{n-1}.
\end{aligned} \tag{12}$$

Thus, the sequence $\{\alpha_n\}$ is nonincreasing and bounded below, so $\lim_{n \rightarrow \infty} \alpha_n$ exists.

Suppose that $\lim_{n \rightarrow \infty} \alpha_n = \alpha > 0$; then we have by Lemma 2 that the set $K = \{T^n x : n = 1, 2, \dots\}$ is bounded, so there exists a positive number A such that

$$\|T^p x - T^q x\| \leq A, \tag{13}$$

where p and q are two integers. Since $\alpha > 0$ and $b > 0$, for any $\epsilon > 0$, there exists an integer N_0 such that $N_0 \geq 2a/(1-b-a)$: and

$$\epsilon < \left(\frac{a}{1-b}\right)^{N_0} [(N_0+1)\alpha - A]. \tag{14}$$

Since $\lim_{n \rightarrow \infty} \alpha_n = \alpha > 0$, there exists an integer N such that for $n \geq N_0 + N$; we have $0 \leq \alpha_n - \alpha < \epsilon$. Setting $n = N_0 + N$ and $y = T^{N_0} x$, then $\alpha_n = \|T^{N_0} y - T^{N_0+1} y\|$ and $\alpha_N = \|y - Ty\|$. Thus, from (14) and Lemma 3, we have that

$$\begin{aligned}
\alpha_n & = \|T^{N_0} y - T^{N_0+1} y\| \\
& \leq \|y - Ty\| + \left(\frac{a}{1-b}\right)^{N_0} \\
& \quad \times \left\{ \|y - T^{N_0+1} y\| - (N_0+1)\|y - Ty\| \right\} \\
& \leq \alpha_N + \left(\frac{a}{1-b}\right)^{N_0} \{A - (N_0+1)\alpha_N\} \\
& \leq \alpha + \epsilon - \left(\frac{a}{1-b}\right)^{N_0} \{(N_0+1)\alpha_N - A\} < \alpha;
\end{aligned} \tag{15}$$

on the other hand, by condition (12), we have that $\alpha_n \geq \alpha$, which is a contradiction, so $\alpha = 0$. We next show that $\lim_{n \rightarrow \infty} T^n x$ exists. In fact, since $\lim_{n \rightarrow \infty} \|T^n x - T^{n+1} x\| = 0$, we have

$$\begin{aligned}
\|T^n x - T^m x\| & \leq \|T^n x - T^{n+1} x\| + \|T^m x - T^{m+1} x\| \\
& \quad + \|T^{m+1} x - T^{n+1} x\| \\
& \leq \|T^n x - T^{n+1} x\| + \|T^m x - T^{m+1} x\| \\
& \quad + a \|T^n x - T^m x\| \\
& \quad + b \|T^{m+1} x - T^n x\| \\
& \quad + b \|T^m x - T^n x\|.
\end{aligned} \tag{16}$$

This implies that

$$\begin{aligned} \|T^n x - T^m x\| &\leq \frac{1+b}{1-a-b} \|T^n x - T^{n+1} x\| \\ &+ \frac{1}{1-a-b} \|T^m x - T^{m+1} x\| \longrightarrow 0. \end{aligned} \tag{17}$$

That is, the sequence $\{T^n x\}$ is a Cauchy sequence in X . Since X is complete, thus there exists $x^* \in C$ such that $\lim_{n \rightarrow \infty} T^n x = x^*$.

Finally, we prove that $x^* = Tx^*$. We have from $\lim_{n \rightarrow \infty} \|T^n x - T^{n+1} x\| = 0$ and (2) that

$$\begin{aligned} \|T^n x - Tx^*\| &\leq a \|T^{n-1} x - x^*\| \\ &+ b \|T^{n-1} x - Tx^*\|; \end{aligned} \tag{18}$$

it follows as $n \rightarrow \infty$ that $\|x^* - Tx^*\| \leq b \|x^* - Tx^*\|$, which implies by $0 < b < 1$ that $x^* = Tx^*$ and the proof is complete. \square

We now consider the approximate fixed-point sequence. A sequence $\{x_n\}$ is called an approximate fixed-point sequence for T if $\|x_n - Tx_n\| \rightarrow 0$ as $n \rightarrow \infty$. It is easy to prove that if C is a nonempty bounded closed convex subset of Banach space X , and T is a nonexpansive mapping from C to C , then T has an approximate fixed point sequence in C . For mean nonexpansive mapping, we have the same result. Firstly, we give the following lemma.

Lemma 5 (see [6]). *Let s a real number and $\{u_i\}$ be a sequence in Banach space X . Then, for any positive integer N ,*

$$\begin{aligned} (1-s) s^{N-1} \sum_{i=1}^N u_i &= (1-s^N) u_N \\ &- s^{N-1} \sum_{i=1}^{N-1} (s^{-i} - 1) (u_{i+1} - s u_i). \end{aligned} \tag{19}$$

If X is the real line and $u_i = 1$ for all i , one has the special case

$$\begin{aligned} N(1-s) s^{N-1} &= 1 - s^N - (1-s) s^{N-1} \\ &\times \sum_{i=1}^{N-1} (s^{-i} - 1). \end{aligned} \tag{20}$$

Theorem 6. *Let C be a nonempty bounded closed subset of Banach space X and T a mean nonexpansive self-mapping on C . Let $x_1 \in C$ be fixed and the sequence $\{x_n\}$ defined by*

$$x_{n+1} = (1-t)x_n + tTx_n. \tag{21}$$

If $1/2 \leq t \leq 1$, then $\{x_n - Tx_n\}$ converges strongly to 0 as $n \rightarrow \infty$.

Proof. Since T is a mean nonexpansive mapping, from (21) and $t \geq 1/2$, we get that

$$\begin{aligned} \|x_{n+1} - Tx_{n+1}\| &= \|(1-t)(x_n - Tx_n) + Tx_n - Tx_{n+1}\| \\ &\leq (1-t) \|x_n - Tx_n\| \end{aligned}$$

$$\begin{aligned} &+ a \|x_n - x_{n+1}\| + b \|x_{n+1} - Tx_n\| \\ &= (1-t) \|x_n - Tx_n\| + at \|x_n - Tx_n\| \\ &+ b(1-t) \|x_n - Tx_n\| \\ &\leq (1-t) \|x_n - Tx_n\| \\ &+ (a+b)t \|x_n - Tx_n\| \\ &\leq \|x_n - Tx_n\|. \end{aligned} \tag{22}$$

Thus, the sequence $\{\|x_n - Tx_n\|\}$ is nonincreasing and bounded below, so $\lim_{n \rightarrow \infty} \|x_n - Tx_n\|$ exists. Suppose that $\lim_{n \rightarrow \infty} \|x_n - Tx_n\| = r > 0$. That is, for any $\epsilon > 0$, there exists an integer m such that

$$r \leq \|x_{m+i} - Tx_{m+i}\| \leq (1+\epsilon)r \quad \forall i \in \mathbb{R}^+. \tag{23}$$

Since $\{x_n\}$ is bounded and $1/2 \leq t \leq 1$, there exists an integer N such that

$$(N-1)tr \leq \delta(M) + 1 \leq Ntr, \tag{24}$$

where $\delta(M) := \sup\{\|x_i - x_j\| : 0 < i, j < \infty\}$.

Now setting $s = 1-t$ and $u_i = x_{m+i} - Tx_{m+i}$ for all positive integers i , we get from (21) and (23) that

$$\begin{aligned} \|u_{i+1} - (1-t)u_i\| &= \|Tx_{m+i+1} - x_{m+i+1} \\ &- (1-t)(Tx_{m+i} - x_{m+i})\| \\ &= \|T((1-t)x_{m+i} + tx_{m+i}) - Tx_{m+i}\| \\ &\leq at \|Tx_{m+i} - x_{m+i}\| \\ &+ b(1-t) \|Tx_{m+i} - x_{m+i}\| \\ &\leq t \|Tx_{m+i} - x_{m+i}\| \leq t(1+\epsilon)r, \\ x_{m+N+1} - x_{m+1} &= \sum_{i=1}^N (x_{m+i+1} - x_{m+i}) \\ &= \sum_{i=1}^N t (Tx_{m+i} - x_{m+i}) = t \sum_{i=1}^N u_i. \end{aligned} \tag{25}$$

Hence, by Lemma 5, (19), (20), and (23), we get that

$$\begin{aligned} (1-t)^{N-1} \|x_{m+N+1} - x_{m+1}\| &= \left\| t(1-t)^{N-1} \sum_{i=1}^N u_i \right\| \\ &\geq (1 - (1-t)^N) \|u_N\| - (1-t)^{N-1} \end{aligned}$$

$$\begin{aligned}
& \times \sum_{i=1}^{N-1} \left((1-t)^{-i} - 1 \right) \|u_{i+1} - (1-t)u_i\| \\
& = \left(1 - (1-t)^N \right) r - t(1-t)^{N-1} \\
& \quad \times \sum_{i=1}^{N-1} \left((1-t)^{-i} - 1 \right) (1+\varepsilon)r \\
& = \left(1 - (1-t)^N - t(1-t)^{N-1} \right. \\
& \quad \left. \times \sum_{i=1}^{N-1} \left((1-t)^{-i} - 1 \right) \right) r \\
& \quad - \varepsilon r t (1-t)^{N-1} \sum_{i=1}^{N-1} \left((1-t)^{-i} - 1 \right) \\
& = Nt(1-t)^{N-1}r \\
& \quad - \varepsilon r \left(1 - (1-t)^N - Nt(1-t)^{N-1} \right) \\
& \geq Nt(1-t)^{N-1}r - \varepsilon r.
\end{aligned} \tag{26}$$

This implies from (24) that

$$\begin{aligned}
\|x_{m+N+1} - x_{m+1}\| & \geq Ntr - \varepsilon r \left(1 + \frac{t}{1-t} \right)^{N-1} \\
& \geq \delta(M) + 1 - \varepsilon r \left(1 + \frac{t}{1-t} \right)^{N-1}.
\end{aligned} \tag{27}$$

Since $\ln(1+y) \leq y$ for $y \in (-1, \infty)$, we have

$$\begin{aligned}
\left(1 + \frac{t}{1-t} \right)^{N-1} & = \exp \left\{ (N-1) \ln \left(1 + \frac{t}{1-t} \right) \right\} \\
& \leq \exp \left\{ (N-1) \frac{t}{1-t} \right\} \\
& \leq \exp \left\{ (1-t)^{-1} (\delta(M) + 1) y^{-1} \right\}.
\end{aligned} \tag{28}$$

Hence, we have

$$\begin{aligned}
& \delta(M) + 1 - \varepsilon r \exp \left\{ (1-t)^{-1} (\delta(M) + 1) y^{-1} \right\} \\
& \leq \|x_{m+N+1} - x_{m+1}\| \leq \delta(M).
\end{aligned} \tag{29}$$

Since ε is an arbitrary positive number, it follows that $\delta(M) + 1 \leq \delta(M)$. This contradiction completes the proof. \square

Corollary 7. *Let C be a bounded closed convex subset of Banach space X and T a mean nonexpansive self-mapping on C . Then, T has an approximate fixed-point sequence in C .*

Proof. For any $x \in C$, define $T_1(x) = (1/2)x + (1/2)Tx$, and let $x_{n+1} = T_1^n(x)$, where $n = 0, 1, \dots$; then the sequence $\{x_n\}$ may be written as $x_{n+1} = (1/2)x_n + (1/2)Tx_n$, so the conditions of Theorem 6 are satisfied. Hence, we have that the sequence $\{x_n\}$ is an approximate fixed-point sequence. The proof is complete. \square

Next, we consider the Opial condition. Related to the problem of existence of a fixed point for mapping and its approximation, in 1967, Opial [7] introduced the following inequality.

Definition 8. Let X be a Banach space; X satisfies Opial's condition if for each x in X and each sequence $\{x_n\}$ weakly convergent to x

$$\liminf_{n \rightarrow \infty} \|x_n - x\| < \liminf_{n \rightarrow \infty} \|x_n - y\| \tag{30}$$

holds for $y \neq x$.

This definition is motivated by the fact that this property implies that asymptotic center of sequence coincides with its weak limit, which of course fails in L^p for $p \geq 1$ (and more generally in Orlicz spaces L^Φ ; see [8, 9]).

Opial's condition is connected to the following fixed-point property.

Theorem 9. *Let X be a real reflexive Banach space which satisfies Opial's condition, C a nonempty bounded closed convex subset of X , and $T : C \rightarrow C$ a mean nonexpansive. Then T has a fixed point.*

Proof. Let T be mean nonexpansive. By Corollary 7, we have that T has an approximate fixed-point sequence in C ; that is, there exists a sequence $\{x_n\}$ of C such that

$$\lim_{n \rightarrow \infty} \|Tx_n - x_n\| = 0. \tag{31}$$

Since C is a weakly compact convex subset of X , there exists a subsequence $\{x_{n_k}\} \subset \{x_n\}$ such that $\{x_{n_k}\}$ weakly convergent to $x_0 \in C$.

Now, we show that $x_0 = Tx_0$. Suppose, by way of contradiction, that $x_0 \neq Tx_0$; then

$$\begin{aligned}
\liminf_{n \rightarrow \infty} \|x_n - x_0\| & < \liminf_{n \rightarrow \infty} \|x_n - Tx_0\| \\
& = \liminf_{n \rightarrow \infty} \|Tx_n - Tx_0\|.
\end{aligned} \tag{32}$$

Since T is mean nonexpansive, we have from (2) that

$$\begin{aligned}
\liminf_{n \rightarrow \infty} \{\|x_n - Tx_0\|\} & = \liminf_{n \rightarrow \infty} \{\|Tx_n - Tx_0\|\} \\
& \leq \liminf_{n \rightarrow \infty} \{a\|x_n - x_0\| \\
& \quad + b\|x_n - Tx_0\|\} \\
& \leq \liminf_{n \rightarrow \infty} \{a\|x_n - x_0\| \\
& \quad + (1-a)\|x_n - Tx_0\|\}.
\end{aligned} \tag{33}$$

It follows that

$$\liminf_{n \rightarrow \infty} \|x_n - Tx_0\| \leq \liminf_{n \rightarrow \infty} \|x_n - x_0\|. \quad (34)$$

This is a contradiction. Therefore, x_0 is a fixed point of T and the proof is complete. \square

In fact, spaces which satisfy Opial's condition not only have the fixed point property, but also satisfy the so-called demiclosedness principle for the mean nonexpansive mapping.

Corollary 10. *If X is a reflexive Banach space which satisfies Opial's condition, let C be a nonempty closed convex subset of X and suppose that $T : C \rightarrow X$ is mean nonexpansive. For any sequence $\{x_n\}$ in C with $x_n \rightarrow x_0$ and $(x_n - Tx_n) \rightarrow 0$, then $x_0 = Tx_0$.*

Proof. The proof of this corollary is the same as in Theorem 9. \square

In order to understand the connection between nonexpansive mapping and mean nonexpansive mapping better, we have the following remark.

Remark 11. It is easy to see that the nonexpansive mappings and contractive mappings both are uniformly continuous and mean nonexpansive; the converse does not hold. Examples will be given to support our point of view.

(1) Let T be the unit interval defined by

$$T(x) = \begin{cases} \frac{x}{5} & \text{if } x \in \left[0, \frac{1}{2}\right), \\ \frac{x}{6} & \text{if } x \in \left[\frac{1}{2}, 1\right), \end{cases} \quad (35)$$

and the norm is the ordinary Euclidean distance on the line. Here, T is discontinuous at $x = 1/2$; consequently, T is neither nonexpansive mapping nor contractive mapping. Now, we prove that T is mean nonexpansive.

Case 1 ($x, y \in [0, 1/2)$). By the definition of T ,

$$\begin{aligned} \|Tx - Ty\| &= \frac{1}{4} \left\| \frac{4}{5}x - \frac{4}{5}y \right\| \\ &= \frac{1}{4} \left\| x - \frac{y}{5} + \frac{y}{5} - \frac{x}{5} \right. \\ &\quad \left. - \left(y - x + x - \frac{y}{5} \right) \right\| \quad (36) \\ &\leq \frac{1}{4} \|x - y\| + \frac{1}{2} \|x - Ty\| \\ &\quad + \frac{1}{4} \|Tx - Ty\|. \end{aligned}$$

This implies that $\|Tx - Ty\| \leq (1/3)\|x - y\| + (2/3)\|x - Ty\|$.

Case 2 ($x \in [0, 1/2)$ and $y \in [1/2, 1)$). In this case, we have

$$\begin{aligned} \|Tx - Ty\| &= \left\| \frac{x}{5} - \frac{y}{6} \right\| \\ &= \left\| \frac{x}{5} - \frac{Tx}{5} + \frac{Tx}{5} - \frac{Ty}{5} + \frac{Ty}{5} - \frac{y}{6} \right\| \\ &\leq \frac{1}{5} \|x - Tx\| + \frac{1}{5} \|Tx - Ty\| \\ &\quad + \frac{1}{5} \|y - Ty\| \\ &\leq \frac{2}{5} \|x - Ty\| + \frac{2}{5} \|Ty - Tx\| \\ &\quad + \frac{1}{5} \|y - x\|. \end{aligned} \quad (37)$$

This implies that $\|Tx - Ty\| \leq (1/3)\|x - y\| + (2/3)\|x - Ty\|$.

Case 3 ($y \in [0, 1/2)$ and $x \in [1/2, 1)$). The proof is the same as in Case 2.

Case 4 ($x, y \in [1/2, 1)$). The proof is the same as in Case 1.

Hence, T is mean nonexpansive by taking $a = 1/3, b = 2/3$.

(2) Mean nonexpansive mappings, however, may be continuous only at their fixed points. For example, the map T defined by

$$T(x) = \begin{cases} \frac{1-x}{3} & \text{if } x \in [0, 1] \text{ and } x \text{ is irrational,} \\ \frac{1+x}{5} & \text{if } x \in [0, 1] \text{ and } x \text{ is rational} \end{cases} \quad (38)$$

is a mean nonexpansive mapping on unit interval by taking $a = 1/3, b = 2/3$ and is continuous only at its fixed point $x_0 = 1/4$.

Conflict of Interests

The author declares that there is no conflict of interests regarding the publication of this paper.

Acknowledgment

The paper is a Project supported by the Scientific and Technological Research Program of Chongqing Municipal Education Commission (Grant no. KJ131104) and key Laboratory for Nonlinear Science and System Structure, Chongqing Three Gorges University, Wanzhou, China.

References

[1] W. A. Kirk, "A fixed point theorem for mappings which do not increase distances," *The American Mathematical Monthly*, vol. 72, pp. 1004–1006, 1965.

- [2] S. S. Zhang, "About fixed point theory for mean nonexpansive mapping in Banach spaces," *Journal of Sichuan University*, vol. 2, pp. 67–78, 1975.
- [3] Z. H. Gu, "Ishikawa iterative for mean nonexpansive mappings in uniformly convex Banach spaces," *Journal of Guangzhou Economic Management College*, vol. 8, pp. 86–88, 2006.
- [4] C.-X. Wu and L.-J. Zhang, "Fixed points for mean non-expansive mappings," *Acta Mathematicae Applicatae Sinica*, vol. 23, no. 3, pp. 489–494, 2007.
- [5] Y. S. Yang and Y. A. Cui, "Viscosity approximation methods for mean non-expansive mappings in Banach spaces," *Applied Mathematical Sciences*, vol. 2, no. 13, pp. 627–638, 2008.
- [6] S. Ishikawa, "Fixed points and iteration of a nonexpansive mapping in a Banach space," *Proceedings of the American Mathematical Society*, vol. 59, no. 1, pp. 65–71, 1976.
- [7] Z. Opial, "Weak convergence of the sequence of successive approximations for nonexpansive mappings," *Bulletin of the American Mathematical Society*, vol. 73, pp. 591–597, 1967.
- [8] Y. A. Cui, H. Hudzik, and F. F. Yu, "On Opial properties and Opial modulus for Orlicz sequence spaces," *Nonlinear Analysis*, vol. 55, no. 4, pp. 335–350, 2003.
- [9] Y. A. Cui and H. Hudzik, "Maluta's coefficient and Opial's properties in Musielak-Orlicz sequence spaces equipped with the Luxemburg norm," *Nonlinear Analysis*, vol. 35, no. 4, pp. 475–485, 1999.